Multiplicar Dos Polinomios (H)

DO

Ot

Simplifique cada expresion.

- (5s® — 55t — 55%)(35” + 95! — 25%)

(=Tt — 613 — 9t3)(9t* — 5t — 9)

(72t + 62 4 52?) (92 4 2* — 1)

(=80 4+ 3v — 1)(v° + 6v* — 207)

(=T72% — 20 — 6)(—ba* — 82° — %)
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Multiplicar Dos Polinomios (H) Respuestas

(@

Simplifique cada expresion.

- (5s® — 55t — 55%)(35” + 95 — 25%)

— 155" + 30s” — 70s% — 3557 + 10s°

(=7t = 6t° — 9¢%) (9t — 5t — 9)
= —63t° — 19¢° 4 12¢* + 99¢° 4 81¢2

(72" + 62° + 5x2)(9x3 + 2% — )
= 632" + 612° 4+ 442° — 2 — 52?

(=8v* 4 3v — 1)(v° + 6v* — 207)
= —8v" — 450° + 330" — 120* 4 20°

(=72% — 22 — 6)(—5x — 82° — 2?)
= 352% + 662° + 53z + 502> + 62°
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